%650 REREFFEREATAR (BRLER

- . o #RIERTIR B EER
B 7 R FHE REREFFRELEEARATEAS
IV % 51D cESSERELBENRETEASRERTES 2021%5A28H (&) - 298 () - 308 (A)
BiR—Ex (k&a— F : 21281001) A= —EeEEB GEHEBo— K : 281080)
Bt #e 2k e 24 34 afn 54 6 74 8
08 Toom 5 |BR BEQ 10,73 BT HE®G) 10.75 @R B Q) 10.83 = B0 10.86 /"B F63F () 10,88 BA BRO) 10,80 7R #EQ@ 10,00 B BHAQ 10.94
JEEE +0.6 | +0.6 |4t +0.6 BIE= +0.6 EIIE= +0.6 AT +0.6 |$R1E +0.6 ZAEFE +0.6
208 200m 48 BT OBHQ) 21.60 HME IEEQ2) 21.61 | BR REEQ2) 21.63 /N RS () 21.81 &M@ M+ Q) 21.89 BN #w\AQ) 21.90 | £# K&E®) 21.97 &£F $HEQ) 21.99
#® -0.6 WERREE -0.6 |3 -0.6 BIE= -0.6 BARIL 0.6 #MPEEK -0.6 |JIlfafkE -0.6 BARYEE -0.6
e 400m i BB 8O 47.93 KB EF0) 862 =h REG) 48.78 AR)IB—28 2) 48.86 mA RO 48,93 FERAKQ 4918 52 @AO) 4926 LT RO 49.70
r BRI 15| #t BIEZ L Xride) BIEZ HiE BIEZ
30\ 800m 48 ®’ FKXOQ) 1:51.93 xR £E(2) 1:53.89 ILE #1EEQ) 1:54.54 %A EX£Q) 1:54.71 | =FHEHAE Q) 1:54.92 #EH itk () 1:55.01 /ME  F4(2) 1:57.52 |#5KE—ER (3) 2:00.38
ZHRE NGR )15 = JIITE®RE AEYE [if=g]4 s NIE BEHT AEHR
e 1500m o[B8 EEQ 35280 B BAQ) 35350 Web EEQ) 35357 ME BEQ) 35430 W M) 35038 M EAQ 35445 5 MEEQ 35449 WT EEEQ 35531
EHT —EnE T T ABLE e AR 518 5
308 5000m 48 RIE F%(2) 14:14.80 % [EA Q) 14:20.43 |gTE  FIEQ2) 14:21.46 [EN i@ (3) 14:38.78 |FX =N Q) 14:48.47 | =5 #K() 14:50. 89 |HFHA ;M) 14:50.99 &) #Q 15:01. 76
5 EHT ABLE H1E AELE T T AR S EHT
. 1 10mh 1 |3 BRQ 1450 &% 7@ Q) 1457 A Q) 1471 mE —%Q©) 1474 | =mEEz A @ 1401 AR HHEO) 14,935 [ BAIFL®) 15.13 #IE Q) 15.13
JEERES +1.1 % 1.1 | SRAKBE +1.1 BIE= +1.1 |3 +1.1 [ IE +1.1 )R +1.1 [&RA +1.1
. 400mH 49 LB BERQ) 52.21 B B&Q) 53.86 =& A1) 53.98 =@ &0 54.22 KE A Q) 54.52 BB EAE O 54.97 %1 B0 55.28 BE 153 55. 47
g # #t fhET el JERR T BINE= AER
98 3000msc | 4g BE AZEQ) 92667 WA BE® 92053 Wil BREG)  9:30.63 FE RAQ  9:3223 ME RAG) 9305 WERAMG) 90546 ha  £(Q) 99710 RE  R@)  9:46.92
v T T T e ] A% s ABLE NERE
08 5000mw | 1g BT MFEQ 213645 XP1 fE®)  21:07.06 KB EM)  20:37.00 BE mHG 203742 MR SAQ) 203147 Ak MTEQ) 2393 &4 KRG 240598 @A MBQ  24:10.19
EHL REE NERE EHT HE N AR LIl
#t 41.48 '™ E & 41.70 | TERRE 41.86 |8 # 7 41.86 ENE= 41.90 |# 41.92 |1E B% & 420 & F 42.52
17| BE OBA B EQ wE AEQ) T R HILMBALS (3) BE HBEO) FA 1) N B
28 4xi00m 0| BE EHQ WE EEQ) Bl R (2) AR A SR BHQ) HBE M) =% WA B HAQ)
5 ®E WO KE BAQ) x5 B0 HEH AEO) WE AF () EA WA Q) B B (1) R B )
Bk 531 0O) SRE FEH () EH KRGO mE EQ) TEAMKQ) B Q) EH EEQ) BE 5@
ENEZ 3:14.02 |3k & 3:14.04 & £l 3:17.63 hnd)IlEE 3:17.68 R &8 &= 3:18.72 |8E P& K 3:19.25 | B & 3:19.58 |l & 4t 3:21.03
10| FNB—EEQ B2 RO AT AR (2) MEE 216 i Q) EBlEL Q) Wl EEEQ R HEQ)
08 4x400m )| FEAMKQ w2 EEQ KE RS (3) R EHQ) BE 50 R (2) KE A Q) BE Q)
BE HEQ) o = (2) AREEE (2) BE HEQ) Nt A Q) i BAQ) BB EEQ) N A Q)
W ®E) B2 BAQ) 2% ERQ e HE HHQ) BB Q) B W) FHE AT ()
wa| £ B B 18 |ME BAQ) 2n00 | @ s (3) T EmE REQ) od TmA  RH Q) o4 R A% Q) CEEE O ol EE  EQ) mes B Eg (1) Tmé5
§ e ENE= = AT BB it £ it
7 w8l ® & m R (= {6) a0 Wk EF Q) m20 H BE Q) g0 A L (2) 380 ARIHERE (2) 3n80 | LIS AR (1) mi0 kF EEQ) N T ) 360
- HAHE BRE ERRE EERE #t # #t e
»8| = W m i [ZE EEQ Tnd5 | LLPIEARE (3) me A EEO moy HE EEQ 06 FEF AR (3) 6m93 B —E @ 6m90 A B= Q) 6ng7 FE EA Q) g4
/ IERR RS +1.3 ENE= +0.0 |#RfE +0.6 2% +0.4 EIEZ 1.1 ENE= -0.7 #EERE +0.4 \EBRE +0.7
va| = m & 48 |UMZAE Q) o4 mE EEQ) an74 | E@ AR 14nd3 £%  FI& ) 14md0 |81 $fs (3) 4n30 ' -b 4xTy(3) 1422 gEA B (1) 14mi6 HE EA Q) 13m93
- FEIEZ +3.9 3% +0.9 JLE=R +0.6 |JIIFEALRE +0.7 EH +0.9 AR +1.4 % +2.6 WERREE +2.4
' eal @ o = 5 [T EBO n32 BA & Q) im24 |RE &R Q) T4mi6 R SEA 2) 13m93 | A BESR (1) 13m65 aN'-by 4x742(3)  13m33 BE MR () il Bs B 13m03
ik B RER il it HER HE sl
vloel B % & 48 |LIDBEE Q) 46n08 BB ERO) 45n20 HhE EG) T8 hh BE O ams2 il —& Q) 49 EH BL0) am62 EER WA G) 40ma3 | Bh i (3) 3606
it HER ABE BT = =EHEE BB wHER
BE| ot I =E2 30 55m54 | IE 8% (3) 533 ek i (3) 499 B el () 457 | BER EEQ) 45na2 PEE EEQ) 4ma9 BB SE0) 40m57 | Rk & B (2) 39m06
K it e BT EER BT it RE TR
»a| o U ®m o [ B Sem67 EE B3 5575 | RIARIIEK (3) 5amd9 Il () 54n23 mH —3 () 5mo6 @ ABG 51mgs HE A1) SomS5 #E B (3) 50m53
> wEE— TR 855 BT R L) £ L
PO — BINEHE (3) 5154 @I &5 (3) 5065 BE  EQ 2890 4f @B WG () 4812 4wa () 4812 BA ZA() 4793 |FE A Q) 285 M) ER Q) a7
B 28 g [HB=R ENE= Py 1A ANE= 7 —muEs HER
E‘Z 298 100m-7E 1% BE-Fast $%-400m 11.51/+0. 6-6m42/+1. 1-10m85-51. 33 11.60/-1. 2-6m42/+0. 0-8m89-53. 07 11.98/+0. 6-6m14/+1. 3-9md6-52. 08 11.60/-1. 2-6m17/-0. 1-10m21-51. 50 11.43/+0. 6-6m43/+1. 5-9m13-51. 17 11.62/+0. 6-5m81/+1. 5-10m15-51. 85 11.56/+0. 6-6m05/+1. 0-9m48-52. 53 12.15/-1.2-6m15/+1. 5-9m89-55. 80
110mH-4° Y $&- & B-1500m 15.76/-0. 6-41m57-1m82-4:59. 16 16. 29/-0. 6-49m47-1mB8-4:56. 73 16. 83/-0. 3-46m15-1m73-4:36. 68 17. 44/-0. 6-3Tm74-1m70-4:40. 25 17.06/-0. 3-30m15-1m73-4:40. 02 16. 36/-0. 6-34m38-1m71-4:39. 01 17.28/-0. 3-36m88-1mb5-4:57. 51 16. 42/-0. 6-38m61-1m58-4:57. 01
x T BINE= 107.6m 7 8RBT SIR R 0% WE %R BEA TR ABTE 3R e 7m
% FSvoRA BHT 574 EIIE= 495 it W5 | EEEE 314 iE 05 NIERE 24 188 THIEM 17
o SA—LFBA  [RIE= 415 i 384 | BT 34 BER 345 FHE 134 2% 125 EMUE 128 #BEAT 1A
R EREA AllE = 1.6 KB=IR 8m B 6 LR 4,55 EEd 35 =EHER 25 BERH 1%
MEFRROTESEY - AR I RERESYEHEEE  IE RERBSLEAEERELRER
SR 149%% NGR : A& #isR . i RIEK ERHGS HiE . MEHEL ® T N
SMAK 1489 A i R FRCEEED RERYEZAS 5 U B RREE P N B
HUFLESaY by BHE K B K =
HERRRERT ORI 2H MR EHE: L H W 2
B OBHE: B B 7 5




